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Time : 3 Hours] [Max. Marks : 70

Instructions : (1) Attempt all questions.
(2) All questions carry equal marks.

1.  Ajit of Ahmedabad consigned “25" refrigerators to Ketan of Dholka at an invoice price
of ¥ 30,000 each on 1-7-2011. The invoice price is fixed after adding 20% on cost price.
Ajit incurred the following expenses at the time of dispatching the goods. Insurance
T 10,700, freight ¥ 4300, carriage T 5,000, Ajit drew on Ketan, a three months’ bill of
¥ 2,00,000 which Ketan accepted and returned immediately.

Ajit discounted it by 15% per annum after a month. 14

Ketan is entitled to get 5% General Commission, on total sales and 3% Del-credere
commission on credit sales.

During the transit, 05 (five) Refrigerators were heavily damaged due to accident and the
insurance company admitted the claim of ¥ 1,15,400.

On 31-12-2011, Ketan sent an “Account Sale” and a Bank Draft for the payment due
from him. He reported in the Account sale that,

(1) Hepaid ¥ 5,400 for octroi, T 1,600 for carriage and T 3,000 for selling expenses.
{2) He sold 10 (ten) refrigerators at ¥ 35,000 each for cash.

(3) He sold 08 (eight) refrigerators at ¥ 40,000 each 1o Jayesh on credit.

(4) Jayesh was declared insolvent, and only 70% amount was recovered from him.

From the above particulars, prepare Consignment Account and Ketan's Account in the
books of Ajit.

OR
{A) Wnte short noles on : T
(1} General Commission and Del-credere Commission

(2} "Account Sale”
KJ-405 9 P.T.O.



(B)

2. A

KI-405

Messers Amardeep and Sons consigned 2000 kgs. “Adarsh Mathia™ costing ¥ 150
per kg and paid ¥ 6,000 direct expenses.

Due to accident, 100 kgs Mathia was lost in transit. The insurance company
admitted a claim of ¥ 13,250, Consignee received remaining goods after paying
¥ 3,800 for octroi and carriage expenses. He sold 1800 kgs. Mathia at ¥ 200 per kg
for cash.

Caleulate in the books of consignor :
(1} The amount of abnormal loss and pass the Journal Entry.
(2) The value of closing stock.

Mansukhram and Sons Ahmedabad have a branch at Dakor, All goods required for
sale at Dakor branch are sent from Head Office at cost plus 20% (Inveice price)
and all cash received at the Dakor branch is deposited into Head Office’s Account
daly in & bank at Dakor. From the following particulars, prepare Dakor branch
account in the books of Head Office :

Particulars Dt. 1-4-2010  Dt. 31-3-2011
() (%)
Stock (Invoice price) 54,000 60,000
Debtors 30,000 40,500
Petty Cash 350 (Y
Furniture 20,000 ("
T

Goods sent to Branch (Invoice Price) 1,56,000
Goods returned to Head Office (Invoice price) 6,000
Bad-debits written off by branch 1,000
Goods returmed by debtors 1,500

Cash sales 60,000
Discount allowed to branch debtors 8OO

Total sales 3,40,000
Petty Cash expenses 850
Remittance to branch for Petty Cash 750

10



(A) Rupal Agency of Ahmedabad has an independent branch in Dhoraaji. Trial Balance

Branch expenses paid by Head Office :

Rent taxes 4,800

Salary 12,000

Oetroi 1,200
Provide 10% depreciation on furniture.

OR

18,000

of Dhoraaji branch as on 31-3-2012 is as under :
Particulars | Debit Credit
Balance ¥ | Balance ¥
Opening stock 75,000 -
Goods received from Head Office 2,235,000 -
Goods retumed to Head Office - 30,000
Head Office Alc. - 225,000
Purchases and sales 2,25,000 5,40,000
Goods retum 30,000 15,000
Ocirol and freight 15,000 -
Salary (up to 28-2-2012) 33,000 -
Wages 12,000 -
Bad debts and bad debts recovered 3,000 7,500
Deebtors and creditors 1,32,000 60,000
Cash and bank 7.500 22,500
10% Indian Government Securities (purchased on 1,42,500 -
1-10-2011 face value ¥ 1,50,000)
Total 9.,00.000 | 9,00,000
Additional Information :
{1} The closing stock is valoed at ¥ 1,00,000.

(2)
(3)

Goods-in-transit T 30,000 and cash-in-transit T 60,000,
On 1-10-2011 Head Office has sent furniture worth ¥ 80,000 to branch, the

account of which is maintained in the books of Head Office.
Depreciation is to be provided at 10% p.a. on the same,
From the above details, prepare Final Accounts of Dhoraaji Branch.

11
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(B) Write the following (any ome) : 7
(1) wwmﬂdwm
(2) Goods-in-transit and cash-in-transit and Inter-branch transactions.

(A) Dinﬁn;dﬁhﬂmﬁhghm-ﬂﬂuﬁhﬁmyhm. 7
OR

(A) mhwmﬁmﬂmﬂwﬂmﬂhﬂuﬁnﬂyﬂﬂmmmmaﬂinmmmie
Entry System ? How ?
(B) (1) From the following information of Pravin, find out total net purchases :

Opening balance of creditors T 9,000, Opening balance of Bills payable
¥ 7,000, Closing balance of croditors ¥ 5,000, closing balance of Bills payable
¥ §,000, Cash paid for Bills payable € 10,000, purchases retum T 2,000, Cash
pumhlmt e ? 19,800, Cash paid to ereditors T 34,800, Dhiscount received

1 . 3

(1) thMan@mﬁaﬂnﬂTﬂﬂhEﬂum

Ratio of net credit sales and cash sales was 3 : 1.
OR

(B) wmmmmﬁmmy.ﬁmmmm
inhrmﬁmmmeﬁIIImndeﬂlmdLmMmmﬂuyw

mdnd!l"Mmh.lﬂllmﬂll\nBalmuShlﬂmnuﬂmm: 7
(1) Assets and Liabilities De. 01-4-2011 Dt 31-3-2012
(L4 ®
Machinery 1,000,000 1,50,000
Building 70,000 70,000
Debiors 2,00,000 3,00,000
Creditors 150,000 1,20,000
Cash on hand 40,000 ("
Stock 1,60,000 1,580,000
Bills receivables 25,000 40,000
Bills payables 15,000 20,000

K1-405 12



4. (A)

(A)

KJ-405

{2) Cash Transactions :
Cash sales
Cash purchases

Purchase of machinery

(Dt 1-10-2011)

Collection from debtors

Drawings

Wages

Salanes
Telephone expenses
Additional Information :

2,580,000
1,70,000
30,000

4,770,000

42,000

14,000

48,000
9,600

Rent paid
Miscellaneous exp,

10% Investment

purchased (on 1-10-
2011)

Payment to ereditors
Cash received
against Bills

receivahles

Cash paid for Bills
payables

(1) Discount received ¥ 2,400 and Discount allowed ¥ 3,600,
(2} Provide for depreciation on machinery @ 10% p.a. and on building @ 5%

p.a.

(3) Provide for Bad-debt reserve at 5% on debtors.

Write short note -

(1) Average clause

(2) Consequential loss policy

OR
Explain following terms :
(1) Indemnity period
(2) Standard Turnover
(3) Annual Tumover
(4} Short sales

13
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(B} A severe fire broke out at night on 31-3-2012 in Godown of Shri Yogesh. All the
goods excepling those worth T 7,500 werc destroyed. From the following
information, ascertain the loss suffered by him and the amount of claim which can

be received from the insurance company - 7
L4
Siock of goods on 1-4-2010 00,000
Purchases less retums (during the year 2010-11) 3,770,000
Sales less returns (during the year 2010-11) 5,000,000
Stock of goods on 31-3-2011 72,000
Purchases less returns (up © 31-3-2012) 5,400,000
Sales less returns (up to 31-3-2012) 7.00,000

The closing stock was always valued at cost price less 10%. He had covered the
stock by an insurance policy of T 1,00,000.

OR
(B) From the following particulars: of Shri Vipul, you are required to preparc a
statement showing less of profil : 7
(1) Date of fire < 1-4-2012
(2) Indemnity period - 4 months
(3) Policy Amount of Insurance . ¥ 2,00,000
{4) Sales for the financial year ending on 31" Dec., 2011  216,00,000

{(5) Profit (after debiting standing charges T 12,000 for the : ¥ 180,000
financial year ending 31% December, 2011)

(6) Sales for the twelve months ending on 31" March, 2012 @ ¥ 20,00,000
(a) Sales for the period 1-4-2012 to 31-7-2012 - ¥ 3,00,000
{b) Sales for the period 1-8-2011 t0 31-3-2012 ¥ 7,00,000

It is expected that due to introduction of new system of production from
1 January, 2012, there will be a rise in the profit at 3% on selling during this year
compared lo last year.

KJ-405 14



In the following sub-questions, more than onc answers are given. You have to select

correct one with necessary calculations for it (seven). 14

(1)

(2)

{3

(4)

(5)

(&)

KJ-405

The consignor, consigned goods worth ¥ 80,000 to the consignee and paid T 5,000,
consignee paid T 3,000 for octroi to release the goods, 7084 goods was sold for
€ 70,000. What will be the value of closing stock 7

(a) T 24,000 (b) T 27,000

(e) 32,000 (d) ¥26,400

For an independent branch, Head Office Ade is like

(a) Capital Alc, (b) Real Aic.

(c) Profit and Loss Ale. (d) MNominal A/c.
Del-credere Commission is calculated on the

(a) Total-goods sent (b) Total sales

{c) Only cash sales (d) Only credit sales

During the year, Head Office sent T 3,000 to its branch for Petty Cash expenses,
the opening balance is ¥ 800 and closing balance of Petty Cash is T 550, then petty
cash expenses will be ¥

(a) 3,000 (b) 3,800
(e) 3,550 (d) 3,250

The balance of furniture account on 1-4-2011 was T 90,000, which was sent to the
branch on 1-10-2010. On 31-3-2012, depreciation was charged on this furniture (&
20 on straight line method. On 31-3-2012, the written down value of the furniture
in the books of the branch would be

(a) T 85,000 (b) ¥ 72,000
(¢) T 90,000 (d) ¥ 70,000
Following particulars obtained from the books of a firm :

Opeming stock ¥ 10,000, purchases T 60,000, closing stock T 30,000, gross profit
on sales 12 20%. Then the amount of sales is

(a} T 40,000 (b) ¥ 70,000

{e) T90,000 (d) ¥ 50,000
15 P.T.O.



(7)

(%)

Stock of goods destroyed by fire T 4,00,000

Stock of goods salvaged T 50,000

Value of Insurance policy T 500,000

There is an average clause in the policy. Then the amount of claim is
(a) T 4,00,000 (b} ¥ 500,000

(c) ¥ 4.50,000 (d) ¥ 3,60,000
Following information is ascertained from a firm :

Opening stock T 20,000, Purchases T 2,30,000; Sales T 300,000, Goods salvaged
% 7,250 and Gross profit is 50%% on cost, then the cost of goods burnl by fire is

() T62.750 (b) T 80,750
(c) 70,000 (d) T42,750

16
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